
Easter Cracking Code Jokes
To find the punch line to the Easter joke, work out the 
answer to each calculation. Next, use the grid to find 
the letter that goes with each answer. Write the letters 
in the space provided. The first one is done for you!

How did the Easter Bunny feel when someone ate all of his chocolate eggs?

Answer: H                                                !

1.  11 + 7 =  18  

4.  18 + 7 =

7.  18 + 8 =

2.  38 + 5 =

5.  44 + 3 =

8.  12 + 10 =

3.  16 + 9 =

6.  27 + 2 =

9.  46 + 4 =

10.  35 + 9 =

a b c d e f g h i j k l m

50 16 21 44 33 39 26 18 47 46 11 27 22

n o p q r s t u v w x y z

29 43 25 30 41 35 20 48 13 23 37 42 19



Easter Cracking Code Jokes Answers

Answer: Hopping mad!

1.  11 + 7 =  18  

4.  18 + 7 = 25

7.  18 + 8 = 26

2.  38 + 5 = 43

5.  44 + 3 = 47

8.  12 + 10 = 22

3.  16 + 9 = 25

6.  27 + 2 = 29

9.  46 + 4 = 50

10.  35 + 9 = 44

How did the Easter Bunny feel when someone ate all of his chocolate eggs?


